## JS≣

Johannesburg Stock Exchange

One Exchange Square, Gwen Lane, Sandown, South Africa Private Bag X991174 Sandton 2146

Tel: +27 11 520 7000 Fax: +27 11 520 8584

www.jse.co.za

Registration number: 2005/022939/06 VAT number: 4080119391

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
8:14:48	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	510	510,000	13.7675		(7,021,425.00) Member	Sell
8:22:55	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.7675		137,675.00 Client	Buy
8:22:55	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.7675		6,883,750.00 Client	Buy
8:47:23	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	1	1,000	13.7235		13,723.50 Member	Buy
8:47:23	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	1	1,000	13.7235		(13,723.50) Client	Sell
8:55:21	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.7925		(1,379,250.00) Client	Sell
8:55:21	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.8025		(1,380,250.00) Client	Sell
8:55:21	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.8025		1,380,250.00 Member	Buy
8:55:21	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.7925		1,379,250.00 Member	Buy
8:55:21	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	13.7295		13,729,500.00 Member	Buy
9:00:30	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	30	30,000	13.7290		411,870.00 Member	Buy
9:00:30	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	30	30,000	13.7290		(411,870.00) Client	Sell
9:01:44	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	3	3,000	13.7360		(41,208.00) Member	Sell
9:01:44	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	3	3,000	13.7360		41,208.00 Client	Buy
9:03:12	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.7278		137,278.00 Member	Buy
9:03:12	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.7278		(137,278.00) Client	Sell
9:03:59	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	8	8,000	13.7278		109,822.40 Member	Buy
9:03:59	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	8	8,000	13.7278		(109,822.40) Client	Sell

CURRENCY DERIVATIVES

## CURRENCY FUTURES AND OPTIONS MATCHED TRADES

**REPORT FOR 26/10/2015** 

9:04:57       \$         9:05:23       \$         9:05:23       \$         9:05:23       \$         9:08:42       \$         9:08:42       \$         9:08:42       \$         9:12:29       \$         9:12:29       \$         9:15:01       \$         9:15:01       \$         9:15:01       \$         9:15:01       \$         9:15:01       \$         9:15:01       \$         9:15:01       \$         9:15:01       \$         9:15:01       \$         9:15:01       \$         9:15:01       \$         9:18:59       \$         9:19:51       \$         9:23:36       \$         9:23:36       \$         9:26:59       \$	<pre>\$ / R 11/12/2015 \$ / R 11/12/2015</pre>	Foreign Exchange Future Foreign Exchange Future	Put 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.	1 1 1 1	Value 1,000 1,000 1,000 1,000 1,000	10 10 5 5	Nominal 10,000 10,000 5,000	Price 13.7280 13.7280	Rate	<b>Type</b> 137,280.00 Member	Sell Buy
9:04:57       \$         9:05:23       \$         9:05:23       \$         9:05:23       \$         9:08:42       \$         9:08:42       \$         9:08:42       \$         9:12:29       \$         9:12:29       \$         9:15:01       \$         9:15:01       \$         9:15:03       \$         9:15:04       \$         9:15:05       \$         9:15:01       \$         9:15:01       \$         9:15:01       \$         9:15:01       \$         9:15:01       \$         9:15:01       \$         9:18:59       \$         9:19:51       \$         9:23:36       \$         9:23:36       \$         9:26:59       \$         9:26:59       \$	\$ / R 11/12/2015 \$ / R 11/12/2015	Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future	0.00 0.00 0.00 0.00 0.00	1 1 1 1	1,000 1,000 1,000	10 5	10,000	13.7280			
9:05:23       \$         9:05:23       \$         9:08:42       \$         9:08:42       \$         9:12:29       \$         9:12:29       \$         9:15:01       \$         9:15:01       \$         9:15:01       \$         9:15:01       \$         9:15:01       \$         9:15:01       \$         9:15:01       \$         9:15:01       \$         9:15:01       \$         9:15:01       \$         9:15:01       \$         9:15:01       \$         9:15:01       \$         9:18:59       \$         9:19:51       \$         9:23:36       \$         9:23:36       \$         9:26:59       \$         9:26:59       \$	\$ / R 11/12/2015 \$ / R 11/12/2015	Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future	0.00 0.00 0.00 0.00	1 1 1	1,000 1,000	5				· · · · · · · · · · · · · · · · · · ·	0
9:05:23       \$         9:08:42       \$         9:08:42       \$         9:12:29       \$         9:12:29       \$         9:15:01       \$         9:15:01       \$         9:15:01       \$         9:15:01       \$         9:15:03       \$         9:18:59       \$         9:19:51       \$         9:23:36       \$         9:23:36       \$         9:26:59       \$	\$ / R 11/12/2015 \$ / R 11/12/2015	Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future	0.00 0.00 0.00	1 1	1,000		5,000	10		(137,280.00) Client	Sell
9:08:42       \$         9:08:42       \$         9:12:29       \$         9:12:29       \$         9:15:01       \$         9:15:01       \$         9:15:01       \$         9:15:01       \$         9:15:01       \$         9:15:01       \$         9:18:59       \$         9:18:59       \$         9:19:51       \$         9:23:36       \$         9:23:36       \$         9:26:59       \$	\$ / R 11/12/2015 \$ / R 11/12/2015	Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future	0.00 0.00	1		5		13.7299		(68,649.50) Client	Sell
9:08:42       \$         9:12:29       \$         9:12:29       \$         9:15:01       \$         9:15:01       \$         9:15:01       \$         9:18:59       \$         9:18:59       \$         9:19:51       \$         9:23:36       \$         9:26:59       \$         9:26:59       \$	\$ / R 11/12/2015 \$ / R 11/12/2015 \$ / R 11/12/2015 \$ / R 11/12/2015 \$ / R 11/12/2015	Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future	0.00		1.000	5	5,000	13.7299		68,649.50 Member	Buy
9:12:29       \$         9:12:29       \$         9:15:01       \$         9:15:01       \$         9:15:01       \$         9:18:59       \$         9:18:59       \$         9:18:59       \$         9:19:51       \$         9:23:36       \$         9:23:36       \$         9:26:59       \$	\$ / R 11/12/2015 \$ / R 11/12/2015 \$ / R 11/12/2015 \$ / R 11/12/2015	Foreign Exchange Future Foreign Exchange Future		1	.,	4	4,000	13.7400		(54,960.00) Client	Sell
9:12:29     \$       9:15:01     \$       9:15:01     \$       9:15:01     \$       9:18:59     \$       9:18:59     \$       9:19:51     \$       9:23:36     \$       9:22:36     \$       9:23:36     \$       9:23:36     \$       9:23:36     \$       9:23:36     \$       9:23:36     \$       9:26:59     \$	\$ / R 11/12/2015 \$ / R 11/12/2015 \$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	4	4,000	13.7400		54,960.00 Member	Buy
9:15:01       \$         9:15:01       \$         9:18:59       \$         9:18:59       \$         9:18:59       \$         9:19:51       \$         9:23:36       \$         9:22:36       \$         9:23:36       \$         9:23:36       \$         9:26:59       \$         9:26:59       \$	\$ / R 11/12/2015 \$ / R 11/12/2015			1	1,000	10	10,000	13.7365		(137,365.00) Client	Sell
9:15:01       \$         9:18:59       \$         9:18:59       \$         9:18:59       \$         9:19:51       \$         9:23:36       \$         9:23:36       \$         9:26:59       \$         9:26:59       \$	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.7365		137,365.00 Client	Buy
9:18:59     \$       9:18:59     \$       9:18:59     \$       9:19:51     \$       9:19:51     \$       9:23:36     \$       9:23:36     \$       9:26:59     \$			0.00	1	1,000	478	478,000	13.7410		(6,568,198.00) Member	Sell
9:18:59     \$       9:18:59     \$       9:19:51     \$       9:19:51     \$       9:23:36     \$       9:23:36     \$       9:26:59     \$	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	478	478,000	13.7410		6,568,198.00 Member	Buy
b:18:59     \$       b:19:51     \$       b:19:51     \$       b:23:36     \$       b:23:36     \$       b:23:36     \$       b:26:59     \$		Foreign Exchange Future	0.00	1	1,000	1	1,000	13.7500		(13,750.00) Client	Sell
9:19:51     \$       9:19:51     \$       9:23:36     \$       9:23:36     \$       9:26:59     \$       9:26:59     \$	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	19	19,000	13.7538		(261,322.20) Member	Sell
9:19:51       \$         9:23:36       \$         9:23:36       \$         9:23:36       \$         9:23:36       \$         9:26:59       \$         9:26:59       \$	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	20	20,000	13.7536		275,072.00 Client	Buy
0:23:36       \$         0:23:36       \$         0:26:59       \$         0:26:59       \$	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.7465		68,732.50 Member	Buy
9:23:36 \$ 9:26:59 \$ 9:26:59 \$	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	5	5,000	13.7465		(68,732.50) Client	Sell
9:26:59 \$ 9:26:59 \$	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.7529		68,764.50 Member	Buy
:26:59 \$ :26:59 \$	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.7529		(68,764.50) Client	Sell
:26:59 \$	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	650	650,000	13.7550		(8,940,750.00) Client	Sell
	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	650	650,000	13.7550		8,940,750.00 Member	Buy
	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	50	50,000	13.7550		(687,750.00) Client	Sell
:26:59 \$	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	50	50,000	13.7550		687,750.00 Member	Buy
	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	750	750,000	13.7590		10,319,250.00 Member	Buy
	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	750	750,000	13.7590		(10,319,250.00) Client	Sell
	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	5	5,000	13.7599		(68,799.50) Client	Sell
	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	5	5,000	13.7599		68,799.50 Member	Buy
	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	5	5,000	13.7599		(68,799.50) Client	Sell
	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	5	5,000	13.7599		68,799.50 Member	Buy
	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	550	550,000	13.7599		7,567,945.00 Member	Buy
	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	550	550,000	13.7599		(7,567,945.00) Client	Sell
	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	5,000	5,000,000	13.7673		(68,836,500.00) Member	Sell
	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	5,000	5,000,000	13.7673		68,836,500.00 Client	Buy
	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	10	10,000	13.7515		(137,515.00) Member	Sell
	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	10	10,000	13.7515		137,515.00 Client	Buy
	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	100	100,000	13.7555		1,375,550.00 Member	Buy
	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	10	10,000	13.7512		(137,512.00) Member	Sell
	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	10	10,000	13.7512		137,512.00 Client	Buy
	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	5	5,000	13.7430		68,715.00 Member	Виу Виу
	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	5	5,000	13.7430		(68,715.00) Client	Sell
	\$ / R 11/12/2015 \$ / R 11/12/2015	Foreign Exchange Future	0.00			200	200,000	13.7430		2,748,600.00 Member	
					1,000						Buy
	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	200	200,000	13.7430 13.7430		(2,748,600.00) Client	Sell
	\$ / R 11/12/2015 \$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	5	5,000	13.7430		(68,715.00) Member	Sell
9:43:59 \$ 9:44:31 \$		Foreign Exchange Future	0.00	1	1,000	5	5,000	13.7430		68,715.00 Client	Buy

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
9:45:12	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.7350		1,373,500.00 Member	Buy
9:45:12	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.7350		(1,373,500.00) Client	Sell
9:46:38	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	206	206,000	13.7329		2,828,977.40 Member	Buy
9:46:38	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	206	206,000	13.7329		(2,828,977.40) Client	Sell
9:46:45	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	170	170,000	13.7327		2,334,559.00 Member	Buy
9:46:45	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	170	170,000	13.7327		(2,334,559.00) Member	Sell
9:48:30	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	45	45,000	13.7381		(618,214.50) Member	Sell
9:48:30	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	45	45,000	13.7381		618,214.50 Member	Buy
9:57:10	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.7305		137,305.00 Member	Buy
9:57:10	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.7305		(137,305.00) Client	Sell
9:57:53	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.9631		(6,981,550.00) Member	Sell
9:57:53	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.9631		6,981,550.00 Member	Buy
9:59:35	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	70	70,000	13.7250		960,750.00 Member	Buy
9:59:35	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	70	70,000	13.7250		(960,750.00) Client	Sell
0:00:49	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	430	430,000	13.7319		(5,904,717.00) Member	Sell
0:00:49	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	430	430,000	13.7319		5,904,717.00 Member	Buy
0:02:15	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	20	20,000	13.7260		274,520.00 Member	Buy
0:02:15	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	20	20,000	13.7260		(274,520.00) Client	Sell
0:03:42	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	111	111,000	13.7333		1,524,396.30 Member	Buy
0:04:56	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	3	3,000	13.7360		41,208.00 Member	Buy
0:05:16	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	3	3,000	13.7360		(41,208.00) Client	Sell
0:08:00	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	38	38,000	13.7515		522,557.00 Member	Buy
0:08:00	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	38	38,000	13.7515		(522,557.00) Client	Sell
0:08:02	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	1	1,000	13.7520		13,752.00 Member	Buy
0:08:02	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	1	1,000	13.7520		(13,752.00) Client	Sell
0:11:09	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	15	15,000	13.7386		(206,079.00) Client	Sell
0:11:09	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	15	15,000	13.7386		206,079.00 Member	Buy
0:15:34	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	6	6,000	13.7468		(82,480.80) Client	Sell
0:15:34	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	6	6,000	13.7468		82,480.80 Member	
0:22:50	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.7408		(137,488.00) Member	Buy Sell
0:22:50	\$ / R 11/12/2015		0.00	1	1,000	20	20,000	13.7466		274,508.00 Client	
		Foreign Exchange Future		1							Buy
0:25:25	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	491	491,000	13.7524		(6,752,428.40) Member	Sell
0:25:25	\$ / R 11/12/2015	Foreign Exchange Future	0.00	ا م	1,000	491	491,000	13.7524		6,752,428.40 Member	Buy
0:25:37	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1 4	1,000	111	111,000	13.7555		1,526,860.50 Member	Buy
0:31:22	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.7515		6,875,750.00 Member	Buy
):31:22	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.7515		(6,875,750.00) Client	Sell
0:32:12	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.7600		1,376,000.00 Member	Buy
0:36:44	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.7575		68,787.50 Client	Buy
0:36:44	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.7575		(68,787.50) Member	Sell
0:47:56	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.7641		(137,641.00) Client	Sell
0:47:56	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.7641		137,641.00 Member	Buy
0:48:37	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	111	111,000	13.7666		1,528,092.60 Member	Buy
0:49:05	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.7699		(137,699.00) Client	Sell

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
					Fuide					.160	
10:49:05	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.7699		137,699.00 Member	Buy
10:49:05	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.7700		(688,500.00) Client	Sell
10:49:05	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.7700		688,500.00 Member	Buy
10:49:14	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	15	15,000	13.7710		206,565.00 Member	Buy
10:49:14	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	15	15,000	13.7710		(206,565.00) Client	Sell
0:49:32	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.7750		(137,750.00) Client	Sell
0:49:32	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.7750		137,750.00 Member	Buy
0:50:35	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	111	111,000	13.7777		1,529,324.70 Member	Buy
0:50:35	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	193	193,000	13.7788		(2,659,308.40) Member	Sell
0:50:35	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	193	193,000	13.7788		2,659,308.40 Member	Buy
0:50:47	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.7799		(68,899.50) Client	Sell
10:50:47	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.7799		68,899.50 Member	Buy
0:50:49	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.7799		(68,899.50) Client	Sell
10:50:49	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.7799		68,899.50 Member	Buy
0:52:50	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.7900		(68,950.00) Client	Sell
0:52:50	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.7900		68,950.00 Member	Buy
0:57:15	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	15	15,000	13.7847		206,770.50 Member	Buy
0:57:15	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	15	15,000	13.7847		(206,770.50) Client	Sell
0:58:37	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.7804		689,020.00 Member	Buy
0:58:37	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.7804		(689,020.00) Member	Sell
0:59:29	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.7888		1,378,880.00 Member	Buy
1:06:09	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.7900		(1,379,000.00) Client	Sell
1:06:09	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.7900		1,379,000.00 Member	Buy
1:06:20	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.7950		(137,950.00) Client	Sell
1:06:20	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.7950		137,950.00 Member	Buy
1:06:20	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.7950		68,975.00 Member	Buy
1:06:20	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.7950		(68,975.00) Client	Sell
1:06:48	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.7999		(68,999.50) Client	Sell
1:06:48	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.7999		68,999.50 Member	Buy
1:07:19	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.7955		(689,775.00) Client	Sell
1:07:19	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.7955		689,775.00 Member	Buy
1:07:23	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	90	90,000	13.8005		1,242,045.00 Member	Buy
1:07:23	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	90	90,000	13.8005		(1,242,045.00) Client	Sell
1:07:25	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.8010		(690,050.00) Client	Sell
1:07:25	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.8010		690,050.00 Member	Buy
1:08:50	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	5	5,000	13.7975		(68,987.50) Client	Sell
1:08:50	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	5	5,000	13.7975		68,987.50 Member	Buy
1:11:06	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	6	6,000	13.7924		(82,754.40) Member	Sell
1:11:06	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	6	6,000	13.7924		82,754.40 Client	Buy
1:27:34	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	345	345,000	13.7888		4,757,136.00 Member	Buy
1:30:43	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	1,000	1,000,000	13.7842		(13,784,200.00) Member	Sell
1:30:43	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	250	250,000	13.7701		3,442,525.00 Member	Buy
1:30:43	\$ / R 11/12/2015	Foreign Exchange Future	0.00		1,000	1,000	1,000,000	13.7365		(13,736,500.00) Member	Sell

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
11:30:43	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	250	250,000	13.7651		3,441,275.00 Member	Buy
11:30:43	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	13.7842		13,784,200.00 Client	Buy
11:30:43	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	13.7365		13,736,500.00 Client	Buy
11:44:12	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.7943		6,897,150.00 Member	Buy
11:44:12	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.7943		(6,897,150.00) Member	Sell
11:45:48	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.7620		6,881,000.00 Member	Buy
11:45:48	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.7620		(6,881,000.00) Client	Sell
12:10:24	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	400	400,000	13.7615		5,504,600.00 Member	Buy
12:10:24	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	400	400,000	13.7615		(5,504,600.00) Client	Sell
12:10:24	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1		400	3,000	13.7530		41,259.00 Member	
12:10:57	\$ / R 11/12/2015	<b>U</b>	0.00	1	1,000	3	3,000	13.7530			Buy Sell
		Foreign Exchange Future		1	1,000					(41,259.00) Client	
12:11:33	\$ / R 14/03/2016	Foreign Exchange Future	0.00	-	1,000	10	10,000	13.9870		(139,870.00) Member	Sell
12:11:33	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.9870		139,870.00 Member	Buy
12:11:33	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.7573		137,573.00 Client	Buy
12:11:33	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.7573		(137,573.00) Member	Sell
2:19:11	\$ / R 28/10/2015	Any day expiry	0.00	1	1,000	6	6,000	13.6445		81,867.00 Member	Buy
2:19:11	\$ / R 28/10/2015	Any day expiry	0.00	1	1,000	6	6,000	13.6445		(81,867.00) Client	Sell
2:32:12	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	350	350,000	13.7500		4,812,500.00 Member	Buy
2:51:28	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	2,000	2,000,000	13.7355		27,471,000.00 Member	Buy
2:51:28	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	2,000	2,000,000	13.7355		(27,471,000.00) Client	Sell
2:54:52	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	200	200,000	13.7370		2,747,400.00 Member	Buy
3:01:13	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.7363		137,363.00 Client	Buy
3:01:13	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.7363		(137,363.00) Member	Sell
3:01:53	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	70	70,000	13.7320		961,240.00 Member	Buy
3:01:53	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	70	70,000	13.7320		(961,240.00) Member	Sell
3:02:11	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	70	70,000	13.7293		(961,051.00) Member	Sell
3:02:11	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	70	70,000	13.7293		961,051.00 Member	Buy
3:03:01	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	70	70,000	13.7315		961,205.00 Member	Buy
3:03:01	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	70	70,000	13.7315		(961,205.00) Member	Sell
3:03:08	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	70	70,000	13.7302		961,114.00 Member	Buy
3:03:08	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	70	70,000	13.7302		(961,114.00) Member	Sell
3:03:28	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	70	70,000	13.7315		961,205.00 Member	Buy
3:03:28	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	70	70,000	13.7315		(961,205.00) Member	Sell
3:03:35	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	140	140,000	13.7307		(1,922,298.00) Member	Sell
3:03:35	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	140	140,000	13.7307		1,922,298.00 Member	Buy
3:04:21	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	25	25,000	13.7289		(343,222.50) Member	Sell
3:04:21	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	25	25,000	13.7289		343,222.50 Member	Buy
3:05:31	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	150	150,000	13.7318		2,059,770.00 Client	Buy
3:05:31	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	150	150,000	13.7318		(2,059,770.00) Client	Sell
3:05:44	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	25	25,000	13.4625		(336,562.50) Member	Sell
3:06:17	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.7318		(686,590.00) Client	Sell
3:06:17	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.7318		686,590.00 Member	Buy
5.00.17	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.7295		6,864,750.00 Member	Buy

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
13:07:06	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.7295		(6,864,750.00) Client	Sell
13:13:14	\$ / R 19/09/2016	Foreign Exchange Future	Р	13.24	1	1,000	405	405,000	362.1400		(146,666,700.00) Member	Sell
13:13:14	\$ / R 19/09/2016	Foreign Exchange Future	C	17.50	1	1,000	405	405,000	386.8900		156,690,450.00 Member	Buy
13:13:44	\$ / R 11/12/2015	Foreign Exchange Future	C	0.00	1	1,000	200	200,000	13.7340		, ,	Sell
13:13:44	\$ / R 11/12/2015			0.00	1	1,000	100	100,000	13.7340		(2,746,800.00) Member	
		Foreign Exchange Future			•						1,371,360.00 Member	Buy
13:18:52	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.7136		(1,371,360.00) Client	Sell
13:23:23	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	2	2,000	13.7105		(27,421.00) Member	Sell
13:26:06	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	15	15,000	13.9443		209,164.50 Member	Buy
13:26:06	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	15	15,000	13.9443		(209,164.50) Client	Sell
13:43:07	\$ / R 19/09/2016	Foreign Exchange Future	Р	13.24	1	1,000	405	405,000	362.1400		(146,666,700.00) Member	Sell
13:43:22	\$ / R 19/09/2016	Foreign Exchange Future	С	17.50	1	1,000	405	405,000	362.1400		146,666,700.00 Member	Buy
14:00:18	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	6	6,000	13.7325		(82,395.00) Member	Sell
14:00:18	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	6	6,000	13.7325		82,395.00 Client	Buy
14:17:13	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	1	1,000	13.7150		(13,715.00) Member	Sell
14:17:13	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	1	1,000	13.7150		13,715.00 Client	Buy
14:21:09	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.7180		(1,371,800.00) Member	Sell
14:21:09	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.7180		1,371,800.00 Client	Buy
14:34:17	\$ / R 19/09/2016	Foreign Exchange Future	Р	13.24	1	1,000	180	180,000	362.1400		65,185,200.00 Client	Buy
14:34:17	\$ / R 19/09/2016	Foreign Exchange Future	Р	13.24	1	1,000	225	225,000	362.1400		81,481,500.00 Client	Buy
14:34:41	\$ / R 19/09/2016	Foreign Exchange Future	С	17.50	1	1,000	180	180,000	362.1400		(65,185,200.00) Client	Sell
14:34:41	\$ / R 19/09/2016	Foreign Exchange Future	С	17.50	1	1,000	225	225,000	362.1400		(81,481,500.00) Client	Sell
14:38:42	\$ / R 11/12/2015	Foreign Exchange Future	Ū	0.00	1	1,000	206	206,000	13.7100		2,824,260.00 Client	Buy
14:38:42	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	206	206,000	13.7100		(2,824,260.00) Member	Sell
14:39:39	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	293	293,000	13.6992		4,013,865.60 Member	Buy
14:39:39	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1		293	293,000	13.6992		(4,013,865.60) Member	Sell
		<b>v v</b>			1	1,000						
14:39:39	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	490	490,000	13.9262		6,823,838.00 Member	Buy
14:39:39	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	490	490,000	13.9262		(6,823,838.00) Member	Sell
14:39:39	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	207	207,000	13.6992		2,835,734.40 Member	Buy
14:39:39	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	207	207,000	13.6992		(2,835,734.40) Member	Sell
14:39:57	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	300	300,000	13.6900		(4,107,000.00) Client	Sell
14:39:57	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	300	300,000	13.6900		4,107,000.00 Member	Buy
14:40:17	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.6999		136,999.00 Client	Buy
14:40:17	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.6999		(136,999.00) Member	Sell
14:41:45	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	5	5,000	13.6950		68,475.00 Client	Buy
14:41:45	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	5	5,000	13.6950		(68,475.00) Member	Sell
14:41:59	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	2	2,000	13.6900		(27,380.00) Client	Sell
14:42:39	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	41	41,000	13.6788		560,830.80 Member	Buy
14:42:39	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	41	41,000	13.6788		(560,830.80) Client	Sell
14:44:34	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	20	20,000	13.6773		(273,546.00) Member	Sell
14:44:34	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	20	20,000	13.6773		273,546.00 Member	Buy
14:47:10	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.6765		(6,838,250.00) Member	Sell
14:47:10	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.6765		6,838,250.00 Member	Buy
		Foreign Exchange Future		0.00	1	1,000	679	679,000	13.6777		9,287,158.30 Member	Buy

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Pre Rate	mium Value Trade Type	Buy/ Sell
				114465	Value		Nominal	1100	11410	13be	
14:49:11	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	8,000	8,000,000	13.7315	(10	9,852,000.00) Client	Sell
14:49:11	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	8,000	8,000,000	13.7315	10	9,852,000.00 Member	Buy
14:51:32	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	15,000	15,000,000	13.7102	20	5,653,000.00 Member	Buy
14:51:45	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.6885		(136,885.00) Client	Sell
14:51:45	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.6885		136,885.00 Member	Buy
14:51:45	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	8	8,000	13.6900		(109,520.00) Client	Sell
14:51:45	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	8	8,000	13.6900		109,520.00 Member	Buy
14:52:19	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	13.7102	(1	3,710,200.00) Client	Sell
14:52:19	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	13.7102	1	3,710,200.00 Member	Buy
14:59:18	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	679	679,000	13.6697		9,281,726.30 Member	Buy
14:59:18	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	679	679,000	13.6697	(	9,281,726.30) Client	Sell
15:01:54	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	250	250,000	13.7640	(	3,441,000.00) Member	Sell
15:01:54	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	250	250,000	13.7640		3,441,000.00 Client	Buy
15:08:23	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	2,577	2,577,000	13.7102	(3	5,331,185.40) Client	Sell
15:08:23	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10,199	10,199,000	13.7102	(13	9,830,329.80) Client	Sell
15:08:24	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	2,224	2,224,000	13.7102	(3	0,491,484.80) Client	Sell
5:09:05	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	250	250,000	13.6942	(	3,423,550.00) Member	Sell
5:09:36	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	250	250,000	13.7042	(	3,426,050.00) Member	Sell
5:09:36	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	250	250,000	13.7042		3,426,050.00 Client	Buy
5:18:28	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	2	2,000	13.6988		(27,397.60) Member	Sell
5:20:06	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	1	1,000	13.6855		13,685.50 Member	Buy
5:20:41	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	1	1,000	13.6855		(13,685.50) Client	Sell
5:25:45	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	7	7,000	13.9100		97,370.00 Member	Buy
5:25:45	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	7	7,000	13.9100		(97,370.00) Client	Sell
5:40:36	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	75	75,000	13.9225		1,044,187.50 Member	Buy
5:40:36	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	75	75,000	13.9225	(	1,044,187.50) Client	Sell
5:51:39	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	4	4,000	13.7056		(54,822.40) Member	Sell
6:05:33	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	40	40,000	13.6900		(547,600.00) Client	Sell
6:05:33	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	40	40,000	13.6900		547,600.00 Member	Buy
6:05:33	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	70	70,000	13.6900		(958,300.00) Client	Sell
6:05:33	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	70	70,000	13.6900		958,300.00 Member	Buy
6:11:08	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	75	75,000	13.9250	(	1,044,375.00) Client	Sell
6:11:08	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	75	75,000	13.9250		1,044,375.00 Member	Buy
6:12:54	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.9305		696,525.00 Member	Buy
6:12:54	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.9305		(696,525.00) Client	Sell
6:28:00	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.7082		137,082.00 Member	Buy
6:28:00	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.7082		(137,082.00) Client	Sell
6:38:02	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.7025		(68,512.50) Member	Sell
6:38:02	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.7025		68,512.50 Client	Buy
6:39:32	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.7032		(68,516.00) Member	Sell
6:39:32	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.7032		68,516.00 Client	Buy
6:41:26	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	150	150,000	13.7888	(	2,068,320.00) Client	Sell
16:41:44	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	1,289	1,289,000	13.7628		7,740,249.20) Client	Sell

Matched Fime	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
6:45:46	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	12	12,000	13.6950		164,340.00 Client	Buy
6:45:46	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	12	12,000	13.6950		(164,340.00) Member	Sell
6:47:18	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.6900		136,900.00 Client	Buy
6:47:18	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.6900		(136,900.00) Member	Sell
6:52:27	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	20	20,000	13.6910		273,820.00 Member	Buy
6:52:27	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	20	20,000	13.6910		(273,820.00) Client	Sell
6:57:20	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	80	80,000	13.7021		1,096,168.00 Member	Buy
6:57:20	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	80	80,000	13.7021		(1,096,168.00) Member	Sell
Fotal Futu	ires			138		49,339	49,339,000			677782096.55	
otal Opti	ons			4		1,215	1,215,000			0.00	
otal for \$	/ R Foreign Exchange	Future		142		50,554	50,554,000			1,122,794,071.55	
9:02:39	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	1	100,000	13.7361		(1,373,610.00) Member	Sell
9:02:39	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	1	100,000	13.7361		1,373,610.00 Member	Buy
:20:26	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	1	100,000	13.7500		(1,375,000.00) Client	Sell
:20:26	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	1	100,000	13.7500		1,375,000.00 Member	Buy
:46:51	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	2	200,000	13.7327		2,746,540.00 Member	Buy
:46:51	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	2	200,000	13.7327		(2,746,540.00) Member	Sell
:57:53	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	4	400,000	13.7337		(5,493,480.00) Member	Sell
:57:53	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	4	400,000	13.7337		5,493,480.00 Member	Buy
0:00:49	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	2	200,000	13.7326		2,746,520.00 Member	Buy
0:00:49	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	2	200,000	13.7326		(2,746,520.00) Member	Sell
0:06:52	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	1	100,000	13.7500		1,375,000.00 Member	Buy
0:06:52	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	1	100,000	13.7500		(1,375,000.00) Client	Sell
0:49:32	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	1	100,000	13.7750		1,377,500.00 Member	Buy
0:49:32	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	1	100,000	13.7750		(1,377,500.00) Client	Sell
0:50:35	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	3	300,000	13.7788		4,133,640.00 Member	Buy
0:50:35	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	3	300,000	13.7788		(4,133,640.00) Member	Sell
1:27:34	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.7911		6,895,550.00 Member	Buy
1:27:34	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.7911		(6,895,550.00) Member	Sell
1:45:34	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.7880		(6,894,000.00) Member	Sell
1:45:34	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.7880		6,894,000.00 Member	Buy
1:56:45	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	3	300,000	13.7675		(4,130,250.00) Client	Sell
1:56:45	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	2	200,000	13.7675		(2,753,500.00) Client	Sell
1:56:45	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	3	300,000	13.7675		4,130,250.00 Member	Buy
1:56:45	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	6	600,000	13.7675		(8,260,500.00) Client	Sell
1:56:45	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	6	600,000	13.7675		8,260,500.00 Member	Buy
1:56:45	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	2	200,000	13.7675		2,753,500.00 Member	Buy
2:04:40	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.7571		(6,878,550.00) Member	Sell
2:04:40	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.7571		6,878,550.00 Member	Buy
2:05:40	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	1	100,000	13.7575		1,375,750.00 Member	Buy
2:05:40	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	1	100,000	13.7575		(1,375,750.00) Client	Sell

latched ïme	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
2:05:40	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	1	100,000	13.7575		(1,375,750.00) Client	Sell
2:05:40	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	1	100,000	13.7575		(1,375,750.00) Client	Sell
2:05:40	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	1	100,000	13.7575		(1,375,750.00) Client	Sell
2:05:40	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	1	100,000	13.7575		1,375,750.00 Member	Buy
2:05:40	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	1	100,000	13.7575		1,375,750.00 Member	Buy
2:05:40	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	1	100,000	13.7575		1,375,750.00 Member	Buy
2:55:14	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	2	200,000	13.7298		2,745,960.00 Member	Buy
2:55:14	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	2	200,000	13.7298		(2,745,960.00) Member	Sell
3:04:13	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	1	100,000	13.7300		1,373,000.00 Member	Buy
3:04:13	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	1	100,000	13.7300		(1,373,000.00) Member	Sell
8:07:13	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.7280		(6,864,000.00) Member	Sell
8:07:13	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.7280		6,864,000.00 Member	Buy
3:29:03	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.7161		(6,858,050.00) Member	Sell
3:29:03	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.7161		6,858,050.00 Member	Buy
8:48:34	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.7382		(6,869,100.00) Member	Sell
:48:34	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.7382		6,869,100.00 Member	Buy
:08:05	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.7219		6,860,950.00 Member	Buy
:08:05	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.7219		(6,860,950.00) Member	Sell
:39:39	\$ / R MAXI 14/03/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.9257		(6,962,850.00) Member	Sell
:39:39	\$ / R MAXI 14/03/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.9257		6,962,850.00 Member	Buy
:39:39	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.6992		(6,849,600.00) Member	Sell
:39:39	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.6992		6,849,600.00 Member	Buy
:40:13	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	10	1,000,000	13.6869		13,686,900.00 Member	Buy
:40:13	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	10	1,000,000	13.6869		(13,686,900.00) Member	Sell
:43:50	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.6786		(6,839,300.00) Member	Sell
1:43:50	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.6786		6,839,300.00 Member	Buy
otal Futu			0.00	28	100,000	93	9,300,000	10.0100		127846350.00	Buy
otal Opti	ons										
otal for \$	/ R MAXI Foreign Excl	nange Future		28		93	9,300,000			127,846,350.00	
:06:38	£/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	21.0688		105,344.00 Member	Buy
):06:38	£/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	21.0688		(105,344.00) Client	Sell
:37:06	£/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	21.1600		105,800.00 Member	Buy
:37:06	£ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	21.1600		(105,800.00) Client	Sell
:02:19	£ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	21.1123		(211,123.00) Client	Sell
:02:19	£ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	21.1123		211,123.00 Member	Buy
:58:04	£/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	21.0731		210,731.00 Client	Buy
2:58:04	£/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	21.0731		(210,731.00) Member	Sell
:39:39	£/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	200	200,000	21.0023		(4,200,460.00) Member	Sell
:39:39	£/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	200	200,000	21.0023		4,200,460.00 Member	Buy
:40:25	£/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	200	200,000	20.9941		4,198,820.00 Member	Buy
			2.00		.,	=	,			,,	

Matched Fime	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
14:43:33	£/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	20.9720		(2,097,200.00) Client	Sell
14:43:33	£/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	20.9720		2,097,200.00 Member	Buy
16:48:53	£/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	21.0073		2,100,730.00 Member	Buy
6:48:53	£/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	21.0073		(2,100,730.00) Client	Sell
16:51:27	£/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	21.0281		210,281.00 Member	Buy
6:51:27	£/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	21.0281		(210,281.00) Client	Sell
6:58:01	£/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	21.0319		(210,319.00) Client	Sell
6:58:01	£/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	21.0319		210,319.00 Member	Buy
7:00:07	£ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	20	20,000	21.3950		(427,900.00) Client	Sell
7:00:13	£/R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	20	20,000	21.3950		427,900.00 Client	Buy
Fotal Futu	res			11		670	670,000			14078708.00	
Fotal Optio		o Futuro		44		670	670 000			14 079 709 00	
Iotal for £	/ R Foreign Exchang			11		670	670,000			14,078,708.00	
2:55:18	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	15.1750		(151,750.00) Member	Sell
2:55:18	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	15.1750		151,750.00 Client	Buy
4:39:39	€ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	250	250,000	15.3864		3,846,600.00 Member	Buy
4:39:39	€ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	250	250,000	15.3864		(3,846,600.00) Member	Sell
4:39:39	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	250	250,000	15.1036		(3,775,900.00) Member	Sell
4:39:39	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	250	250,000	15.1036		3,775,900.00 Member	Buy
4:39:57	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	15.1110		(1,511,100.00) Client	Sell
4:39:57	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	15.1110		1,511,100.00 Member	Buy
4:40:38	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	250	250,000	15.0975		3,774,375.00 Member	Buy
4:40:38	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	250	250,000	15.0975		(3,774,375.00) Member	Sell
4:41:57	€ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	250	250,000	15.3770		(3,844,250.00) Member	Sell
4:41:57	€ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	250	250,000	15.3770		3,844,250.00 Member	Buy
5:19:54	€ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	70	70,000	15.3586		1,075,102.00 Member	Buy
5:19:54	€ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	70	70,000	15.3586		(1,075,102.00) Client	Sell
6:31:12	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	240	240,000	15.1403		3,633,672.00 Member	Buy
6:31:12	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	240	240,000	15.1403		(3,633,672.00) Member	Sell
6:32:22	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	240	240,000	15.1325		3,631,800.00 Member	Buy
6:32:22	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	240	240,000	15.1325		(3,631,800.00) Member	Sell
6:47:18	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	15.1301		(75,650.50) Member	Sell
6:47:18	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	15.1301		75,650.50 Client	Buy
6:48:19	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	15.1162		151,162.00 Member	Buy
6:48:19	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	15.1162		(151,162.00) Client	Sell
6:48:19	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	40	40,000	15.1147		(604,588.00) Client	Sell
6:48:19	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	40	40,000	15.1147		604,588.00 Member	Buy
6:50:22	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	15.1234		151,234.00 Member	Buy
6:50:22	€ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	15.1234		(151,234.00) Client	Sell
6:58:03	€ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	15.1285		151,285.00 Member	Buy
6:58:03	€ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	15.1285		(151,285.00) Client	Sell

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Prei Rate	nium Value Trade Type	Buy/ Sell
Total Futu	res			14		1,735	1,735,000		2	6378468.50	
Total Opti	ons										
Total for €	/ R Foreign Exchang	e Future		14		1,735	1,735,000		26	,378,468.50	
16:48:54	AU\$ / R 11/12/2015	Foreign Exchange Future	0.00	) 1	1,000	250	250,000	9.9105	2	2,477,625.00 Member	Buy
16:48:54	AU\$ / R 11/12/2015	Foreign Exchange Future	0.00	) 1	1,000	250	250,000	9.9105	(2	2,477,625.00) Member	Sell
16:49:33	AU\$ / R 11/12/2015	Foreign Exchange Future	0.00	) 1	1,000	250	250,000	9.9179	(2	2,479,475.00) Member	Sell
16:49:33	AU\$ / R 11/12/2015	Foreign Exchange Future	0.00	) 1	1,000	250	250,000	9.9179	2	2,479,475.00 Member	Buy
Total Futu	res			2		500	500,000			4957100.00	
Total Opti	ons										
Total for A	U\$ / R Foreign Excha	nge Future		2		500	500,000		4	,957,100.00	
Total Futu	res			193		52,337	61,544,000		851	042723.05	
Total Opti	ons			4		1,215	1,215,000			0.00	
Grand To	tal for all Instrume	nts		197		53,552	62,759,000		1,296,0	054,698.05	